Jooboooogouodod

gogn goobobobbboooooon
godn goobobbuogogooboon
HEN 00/000

goon goobD:ooooon

gooo:oodo
gouoo:ooog

0000 000000000001-20
0000 13477083161
ot

guduobbbbogoooouobobbouoooobobbbooooobbbooooobibog
gobbobb2odgooooboobbtodoooobobobbbodooooobobs3sboudd
gudobbbbogoooouobobboooouobobobbooooob4oooobbbbon
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
guooooobbood

0000000000000 00000000001000000000000000000000
0000000000000000000000000000000(@000)000000000
0000000000000 0000000000000 00000000 Q=10000000000
00x Ox O=600mmx 800mmx 2200mm0 000 00000000000080mmIO0000000
0 P=600kg/m20 Q = 1000kg A =(0.6+0.8/2+0.8/2)x (0.8+0.8/2+0.8/2)=2.24m2 000000000000
q=Q/A=1000/2.24=446kg/m2 O O q
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